g é fb ﬂ @ SgUa! BT UM

| fgqie: @R
(4x — 2)(8* + Tx+ 7) (4x—T)x+4)
(5+ 5 (5x + 6) (9% + 5x + 5)(4x — 3)
(6— x> (9x +3) (6— 2x)(x — 8)
(8% — 3x—3)(7x — 8) (5x% + T)(x +2)
(6x + 2)(4x— 7) (7 3x)(6x — 3)
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(4x — 2)(8 + Tx+ 7)
320 + 122 + 14x— 14

(5+ 52 (5x + 6)
25x> + 30x% + 25x + 30

(6— x> (9x +3)
—0x® — 3x% + S4x + 18

(8x% — 3x— 3)(7x— 8)
56x° — 85x2 + 3x + 24

(6x+2)(4x—17)
24x% — 34x — 14

f&iep:

Ax—T7(x+4)
Ay + 9x — 28

(9x% + 5x + 5)(4x — 3)
36x° — 7x% + 5x— 15

(6— 2x)(x — 8)
—2x + 22x — 48

(5% + 7)(x + 2)

5¢ 4 10x2 + Tx + 14

(7= 3x)(6x— 3)
—18x% + 51x—21
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